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And if you wish, I can say; 333 "' are arguing whether we are ;bwn
PO FTRINR

OVERVIEW

The X3 cited a ¥n>72 and 7w»n in which 7127 "9 are seemingly giving self-
contradictory rulings. The X713 now is offering a new answer to resolve this
contradiction. Mo discusses this answer and its ramifications.

mooIn qualifies the scope of this answer:
— N7 229N NN 2297 NOWP NIN ”NIYH NON XD

And the X n3 is offering this answer only to resolve the contradiction from >'"9

on °'"1 (that regarding 3712 >12m he is not believed, and regarding the 721 he is believed) -
— 3112 1IN Y95wa I35 798 B9IYY 1929N 19397 YaN

However regarding the contradiction from the 32139 on the 3139, we still require
the answer of 17°2 1IN Yoowa.

nooIN asks:
— 1’7)31) DIVN N1IN 2297 NNPYOT 919925 dya Y9N NIYPIVNY 41"1‘1N”)3 HYNINY 29N nupn

PTIRN2 DR "7 asked; and how did the %73 initially want to say that the

reason °''1 does not believe the 772 to say 372 *72m is because of collusion -
— PONPY DIBYIND PIYNT (3,02 9710p5) PP Y0PV DTN %29 920 TN Yy DI N2 XM

For even without the concern of %23, the 172 will not be believed since perforce
»''~ maintains in the end of our P75 that Pem™® 1R Phyn?!’

NB0IN answers:
— D9191) DIYN RNYV INT IRT PAYT XPYD RIPIVNT PNHN 13929 XM

! >"3 maintains that if a person receives 7mn (from the farmer/grower) we assume that he is a valid 772 and he and
his children will be considered 0°0m1"» 0°177 and be allowed to marry other °om . The testimony of an X"Y (while it
should be valid to allow him to eat 7m17n) is not sufficient to confer upon him the status of onn; for this we require
two 0°7v. Therefore >"7 prohibits him from receiving 7170 (based on the testimony of only an X"Y) lest we consider
him a onn. The 7127 maintain we are not 0nY% 71N 79y therefore there is no concern if we allow this 372 to
receive 71170 based on the testimony of (even) an X"v. See [however] footnote # 9.
* The ruling of 10m% a1 Poy» PR will not explain why by the 171 he is not believed and by the 1715 he is.
? See previous *22wa 7"7 '01n (see there TIE ‘Overview” and footnote # 1) as to the interpretation of this answer of
17°2 NI 2OWD.
* This is (seemingly) the city of Verdun (in northeastern France).
> Once we know that >"3 maintains "21 1992 it is understood why he maintains that an X"y by a 1712 is not believed
(even if @917 11w X7). There is no question from o>van for > maintains 229117 W KY.
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And the >''1 answered that initially the X773 assumed that if not for the reason

of 2% -
— )Yy 9119 519 NMAND 11 119N X BI1TPIN 139N XY

We would not have caused the 3772 to lose the 72170 in order to rule mann PPoY»
onY -

— 715y PN BYIIN 13590 BTYD NAYINY 1950 39 5Y DITAY SN PTA 1191 11D
Since according to the law it is proper for this 175 to collect 7m0 by the

testimony of his friend; and on the contrary we would prefer to say 79u» 1PN
1°0M% aNnA to protect his 10 rights —

mooIn anticipates a difficulty:
—1P5¥117 DIVN NN 1D PPN PRT AN 239D 1IPD 9N 13y 22)7 2) DY 9N

Even though that »"+ states later regarding an °1v1> 72y, that we do not

disburse 172170 to him because of the concern of 70m1°% 77nNn PP@¥%; why do we
not say there as well that we do not want to cause the 72y a loss of 72170 (and we should enact
that Pom™» 1IN0 779V TR) —

mooIn replies:
— 139 X932 NN Y PPN PR OX NT 7Y JY 70902 XWWN 75 DD PN 0NN

There by 72V there is not such a concern for the loss of the 72y if we do not

disburse 290 to this 72v without his master, since he will receive 10 through his
master. However, regarding the 172 if his friend is not believed he will lose the 7m0 entirely.

mooIn asks:
— %53999 N92D 1IN 1IN ON)

And if you will say; but what is the logic of their dispute -
— 7112)902 D1Y 1Y TV PYYNT 179N 19109

Let either both 71271 °"1 agree that 101772 7m0 P9w» and two 297 should be

6 According to this 7"o we would rather enact that 1°0r1°2 72170 %Y PR in order to allow this 175 to receive 717N
based on an X"¥ (if not for o*7n17 j1°w>n). However since (presumably) we are 1on1> wn, therefore an X"¥ is not
believed. Once an X"V is not believed we can be 1°0m% 71701 19y since he is eating 72170 on the basis of the
testimony of two 0°7v, which is sufficient for om” as well. See following footnote # 8. See ‘Thinking it over’.
7 The X3 therefore assumed that the only reason the 373 is not believed to testify for his friend is because of ¥
(and therefore "1 maintains 10m? 321707 P2¥n), the contradiction is from 7 nn where we are not 229237 wwin. The
answer of the X"aR1 is that we are 1°0m1°2 321707 71991 even if we are not 2°9m 7 w»n, therefore an X"V is not 7K1
8 The dispute between 1127 *"1 whether we are 7170 2°987 to a 172 with one 7V is based on whether we maintain
1on? Ny 1oy, However, what is the argument, whether or not we should be 1°0m1°% nn 72vn, based on. In
this question (as well as in the previous answer [see footnote # 6]) MoOIN assumes that 1°0N1? AIIND POYR means
that 7"2 will be Ponv? noyn if they know someone is receiving im0 (and the 13127 maintain 7" will not be 7%y»).
The question is why yes be 7991 or why not be 79vn; what is the argument. See following footnote # 9.
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required to allow him to receive 219N -
— 12992 NN TY NIN 7908 XD PH¥1I X1 1179999 191990 1N

Or let them both agree that '>1 3%v» 8 and we will require only one 7v for
72390 —

nv0IN answers:
— DY %Y 19298N 729D PON1Y NIIIND TP NNIY 192N 920 9197 21999 RNAT 99D W

And one can say; that their argument is, that >"7 maintains that we are
concerned that perhaps the people will mistakenly be oom»% m»nn abwn,

therefore there is a requirement for two 237 to testify that he is a 775 and be allowed
to receive 1mMON -

$19PWN N 920 909

And the 3127 maintain that we are not concerned that the people will mistakenly be
1OMY IMnn T9Yn; everyone knows that Pom is special and even though he is receiving 7m0
they will not consider him a omn, so therefore there is no concern (even) if we allow him to
receive X"y 9"y 717N,

SUMMARY
The dispute whether 1012 7217072 Pov7 is not regarding a law or enactment but
rather whether there is a concern that mistakenly we may be 10117 mmnn novn.

THINKING IT OVER

mooIn states that in the 7"0 the X3 assumed that we only say Pon N Povn
since v 1wen.'’ However, even if we are not 221 wwin we can still be
X"y 5"V 713752 79¥n in a case where one 7Y says ‘T am a PXw° and my friend is a
172°. How can mooin say that since we are 2°9113% w»n (and therefore no one is
X"v 5"y 152 79vn) therefore Pomh nn 1991, when it is possible to be 177¥n
X"y 5"y 702 where there is no 2o wwn?!'!

2. What is the connection between the beginning of n1vo1n with the subsequent
question of 179817 w"1 and with the final n"x1?"?

? mooIn answer is that there is no rule that we are oMY 1M 72¥n (in fact everyone agrees that 7"2 will not be
TONY? AN 779n); rather " is concerned that perhaps people will mistakenly be 1°0n12 mm1nnn 79vn (without
consulting 7""2). See previous footnote # §.
12 See footnote # 6.
' See w"wn and 715 MK PR 0TO.
12 See 33 mIx prix> o7>.
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